
Consistency check rule

Rule: If (^TC018Q01NA01= 0 and ^TC018Q02NA01= 0 and ^TC018Q03NA01= 0 and ^TC018Q04NA01= 0
and ^TC018Q05NA01= 0 and ^TC018Q06NA01= 0 and ^TC018Q07NA01= 0 and ^TC018Q08NA01= 0 and
^TC018Q09NA01= 0 and ^TC018Q10NA01= 0 and ^TC018Q11NA01= 0 and (^TC018Q01NB01= 0 and
^TC018Q02NB01= 0 and ^TC018Q03NB01= 0 and ^TC018Q04NB01= 0 and ^TC018Q05NB01= 0 and
^TC018Q06NB01= 0 and ^TC018Q07NB01= 0 and ^TC018Q08NB01= 0 and ^TC018Q09NB01= 0 and
^TC018Q10NB01= 0 and ^TC018Q11NB01= 0))

Message: Vyberte prosím odpověď.


